WC\A@_A\A s meae.‘amk' |4 SO\&@H"-"S\?\S
Secben | |
Question Scheme Marks
Number
I
i D RS ,/i B
/]
/
,»/
A
'/' nig
L/
/
g = F
(a) R=F Bl
S+Q=mg B1
0 —ER F —lS Bl
37 4
2 M]1
Q:1R=leS, S+1S=mg, S=émg
3 3 4 6 7 Al (5)
(b) M(A) mgxxcos60=Qx2lcos60+ R x2/sin 60 MI
M (B) mg (2] -x)cos60+F x2/sin 60 = S x 2/ cos 60 AD
M (c of m) Sxcos60 = Fxsin 60+ R(2/ —x)sin 60+ Q(2/ —Xx)cos 60
mgx cos 60 = éx gmgx 2/ cos 60+%xgmgx 2/sin 60 DM1
l,r=—1—x21xl+ix1\/§
2 7 2 14
AG=x=1.028..../ x=1.03/ Al (5)
[10]

o




M1
Using s = ut + %at2 Method must be
clear
r :(3t)i+(10+5t—4.9t2)j Answer given AT A1
3)
(B) | j component =0: 10+ 57 —4.9¢ M1
. 5+425+4196  5++/221 DM
quadratic formula: ¢t = =
9.8 9.8
T'=2.03(s), 2.0 (s) positive solution only. A1
(3)
(¢) | Differentiating the position vector (or working from first principles) M1
v=3i+(5-9.80)j (ms") A1
(2)
(d) | At B the j component of the velocity is the negative of the i component: 5 | M1
-9.8t=-3, 8=9.38s, A1
(2)
t=0.82
(®) | v=3i-3j, speed = /37 + 3% =18 =424 (m 5" WAl
(2)
[12]
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(D a) vio > 20 -l4t+20 =0
= Y-t 40 =0 S
=)

(- VA =0 2 t=2awy ~

Nl 2X3-§2 W)ﬂg +20 =
D v =20
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CJD\S?\U—CQM@J\XS = S\FM = 2'}-}
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